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Subject Number of questions 

CURRENT EVENTS 25 

GEOGRAPHY OF INDIA 25 

INDIAN ECONOMY 25 

THIRUKKURAL 25 

ROLE OF TAMILNADU IN 
FREEDOM STRUGGLE 

25 

MENTAL ABILITY 25 

Total number of questions 150 (2 ½ Hrs) 
 
 

UNIT II - CURRENT EVENTS 
 
OCTOBER 2019 
 
UNIT III - GEOGRAPHY OF INDIA 
 

Social geography – Population density and distribution - Racial, 
linguistic groups and major tribes 
 
UNIT VI - INDIAN ECONOMY 
 

Sources of revenue – Reserve Bank of India – Fiscal Policy and Monetary Policy - 
Finance Commission – Resource sharing between Union and State Governments 

- Goods and Services Tax. 
 

 

REFERENCE HALL ACCESS TEST (RAT) FOR 

 TNPSC GROUP I/II PRELIMINARY CURRENT BATCHES (2019) 

BASED ON NEW SAMACHEER BOOKS 
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UNIT VIII - THIRUKKURAL (10th TAMIL SAMACHEER NEW BOOK) 
 

1. xOf;fKilik / The possession of Decorum (mjpfhuk; 14) 

2. nka;Azh;jy; / Truth Consciousness (mjpfhuk; 36) 

3. nghpahiu Jizf;Nfhly; / Seeking the Aid of Great Men (mjpfhuk; 45) 
4. nfhLq;Nfhd;ik / The Cruel Sceptre (mjpfhuk; 56) 

5. fz;Nzhl;lk; / Benignity (mjpfhuk; 58) 
6. Ms;tpidAilik / Manly Effort (mjpfhuk; 62) 

7. ed;wpapy;nry;tk; / Wealth Without Benefaction (mjpfhuk; 101) 
 

UNIT VIII 
 

Role of Tamil Nadu in freedom struggle - Early agitations against 
British Rule - Role of women in freedom struggle. 
 

MENTAL ABILITY 
 

i. 7TH STD TERM I (NEW BOOK) - DIRECT AND INVERSE 
PROPORTION 

ii. Number System 
iii. Dice  
iv. 8th std Term 2 (New Book) – Life Mathematics) 

 

Reference 
 

 

 Current Events – Appolo Material, www.appolosupport.com  
 Geography of India – 7th Std Term 1 – unit 3, 10th Std Volume – unit 5, 10th 

Std Volume 2 – unit 7, 12th Std – Unit 1, 2, 5 
 Indian Economy – 10th Std Volume 2 – Unit – 4, 12th Std Economics – Unit 

5, 6, 9 
 Role of Freedom struggle in TN – 10th Std Volume 2 – Unit 6, 9, 11th 

History Volume 2, 12th History Volume 1, 10th Std Old Samacheer Book – 
Lesson 13, 12th Std Old State Board Book – Lesson 17  
 

Advantages of Scoring High Marks in Assessment Test 

 Access to Reference Hall to read text books and standard books. 
 Spot tests 
 Special Motivational Sessions 
 Mentorship with Toppers 
 Special classes 

 Mentorship –Under the Personal Guidance of R. Sam Rajesswaran, 
Director, Appolo Study Centre.  
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REFERENCE HALL ACCESS TEST III – 2019 
GROUP I PRELIMINARY 

 
1. The factors influencing the distribution of population 

I. Accessibility  II. Economic and political factors 
III. Soil   IV. Adequate water supply 
a. I, II, III, IV  b. I, II, IV  c. II, III, IV  d. I, III, IV 
kf;fs;njhifg; gutiy ghjpf;Fk; fhuzpfs;  
I. mZff;$ba miktplk; 
II. nghUshjhu kw;Wk; murpay; fhuzpfs; 
III. kz; 
IV. epiwthd ePh; mspg;G 
a. I, II, III, IV  b. I, II, IV  c. II, III, IV  d. I, III, IV 
 

2. Consider the following statements 
I. Ten most populous countries of the world together make up nearly 

60% of the world‟s population 
II. Nutritional density of the world is 323 per sq.km of land 
III. Singapore has the highest nutritional density of population 
a. I, II, III are correct  b. I, II are correct 
c. II, III are correct   d. I, III are correct 
gpd;tUk; $w;Wfis Ma;f 
I. cyfpd; gj;J kpf mjpf kf;fs;njhif nfhz;l ehLfs; Nrh;e;J 

cyfpd; 60 rjtPj kf;fs; njhifiaf; nfhz;Ls;sd 
II. cyfpd; Cl;lr;rj;J mlh;j;jp tPjk; xU rJu fpNyhkPl;lUf;F 323 

Ngh; 
III. rpq;fg;g+h; cyfpNyNa kpf mjpf Cl;lr;rj;J kf;fs;njhifiaf; 

nfhz;Ls;sJ 
a. I, II, III rhp  b. I, II rhp  c. II, III rhp  d. I, III rhp 
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3. Consider the following statements 
I. Australia with an average density of population of 2 persons per 

sq.km is one of the most sparsely populated countries of th e world 
II. Singapore has the lowest fertility rate 
a. I, II are correct  b. Only I is correct 
c. only II is correct  d. I, II are incorrect 
gpd;tUk; $w;Wfis Ma;f 
I. xU rJu fpNyhkPl;lUf;F ,uz;L NgUld; M];jpNuypah cyfpd; kpf 

Fiwthd kf;fs; mlh;j;jp nfhz;l ehLfspy; xd;whf cs;sJ 
II. rpq;fg;g+h; cyfpNyNa kpff; Fiwthd fUTUjy; tpfpjj;ijf; 

nfhz;Ls;sJ 
a. I, II rhp   b. I kl;Lk; rhp 
c. II kl;Lk; rhp  d. ,uz;Lk; jtW 
 

4. Which of the following statements is/are correct? 
I. The current world population is 7.5 billion 
II. The population of India is expected to surpass that of china in 2025 
a. I, II are correct  b. Only I is correct 
c. Only II is correct d. I, II are incorrect 
gpd;tUk; $w;Wfspy; vit rhpahdit? 
I. jw;Nghija cyf kf;fs;njhif 7.5 gpy;ypad; 
II. 2025,y; kf;fs;njhifapy; ,e;jpah rPdhit kpQ;rptpLk; vd 

vjph;ghh;f;fg;gLfpwJ 
a. I, II rhp   b. I kl;Lk; rhp 
c. II kl;Lk; rhp  d. I, II jtW 
 

5. Which of the following statements is / are correct? 
I. India population is 17.74% of the total world population 
II. The population density in India is 455 per km2 
III. 30.50% of the population is urban 
a. I, II, III  b. I, II  c. II, III  d. I, III 
gpd;tUk; $w;Wfspy; vit rhpahdit? 
I. cyf kf;fs;njhifapy; ,e;jpah 17.74% nfhz;Ls;sJ 
II. ,e;jpahtpy; kf;fslh;j;jp xU rJu fpNyhkPl;lUf;F 455 
III. efu kf;fs; njhif (,e;jpahtpy;) 30.50% 
a. I, II, III  b. I, II  c. II, III  d. I, III 
 

6. Who said Thirukural as „je;ij je;j jha;g;ghy; Kg;ghy;‟? 
a. Abdul Raguman b. Arivumathi 
c. Vairamuthu  d. Mu. Metha 
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jpUf;Fwis „je;ij je;j jha;g;ghy; Kg;ghy;‟ vdf;$wpath; ahh;? 
a. mg;Jy; uFkhd;   b. mwpTkjp 

c. ituKj;J   d. K. Nkj;jh 
  

7. Which one of the following books glorifies Thirukural? 
a. Kural Venba   b. Valluvar Malai 
c. Thiruvalluva Malai  d. Kural Malai 
gpd;tUk; E}y;fSs; jpUf;Fws; Gfo;ghLk; E}y; vJ? 
a. Fws; ntz;gh   b. ts;Sth; khiy 

c. jpUts;St khiy  d. Fws; khiy 
 

8. Who sketched the present Thiruvalluvar Painting? 
a. Venugopal Sharma  b. Raja Ravivarma 
c. Pandithurai Thevar  d. Ganapthi Sthapathi 
jw;NghJs;s jpUts;Sth; Xtpaj;ij Gide;jth; ahh;? 
a. NtZNfhghy; rh;kh  b. uh[h utpth;kd; 
c. ghz;bj;Jiu Njth;  d. fzgjp ];jgjp 
 

9. Which one of the following is not the attribute of Thirukural? 
a. Human welfare   b. Secularism 
c. Glory of Tamil   d. Compassion 
gpd;tUtdtw;Ws; jpUf;Fwspy; ,y;yhj ,ay;G vJ? 
a. kdpj eyk;   b. rkar;rhh;gpd;ik 
c. jkpopd; ngUik   d. fUiz 
 

10. „,izapy;iy Kg;ghYf;F ,e;epyj;Nj‟ – Who said this? 
a. Bharathiyar   b. Bharathidasan 
c. Parithimar Kalaignar  d. Maraimalai Adigal 
„,izapy;iy Kg;ghYf;F ,e;epyj;Nj‟ vdg;ghbath; ahh;? 

a. ghujpahh;    b. ghujpjhrd; 
c. ghpjpkhw; fiyQh;  d. kiwkiy mbfs; 
 

11. Which of the following statements about the paper currency standards 
is/are correct? 
1. The paper currency standard refers to the monetary system in which 

the paper currency notes issued by the treasury or the central bank.  
2. Paper currency can be convertible into any metal  

 a. 1, 2   b. 1  c. 2  d. None of these 
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fhfpjg; gzj;jpl;lk; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
a. fhfpjg; gzj;jpl;lk; vd;gJ ehl;bd; fUT+yNkh> ikatq;fpNah 

my;yJ ,uz;LNkh tiuaiwaw;w rl;lKiw gzkhf fhfpj 
gzj;jpid Gof;fj;jpw;F toq;Fk; Xu; gz KiwahFk;. 

b. fhfpj gzKiwapy; gzj;jpw;F <lhd kjpg;gpid cNyhfkhf khw;w 
KbAk;. 

a. 1, 2   b. 1  c. 2  d. Nkw;$wpa VJkpy;iy  
 
12. Which of the following statements about plastic money is/are correct? 

1. Plastic money is an alternative to the cash or the standard “Money” 
2. Plastic money can come in many different forms such as cash, cards, 

credit cards, Debit cards. Pre-paid cash cards, store cards, Forex cards 
and smart cards 

 a. 1, 2   b. 1  c. 2  d. None of these  
 nefpopg; gzk; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 

1. nefpopg;gzk; eilKiwapYs;s fhfjpg;gzj;jpw;F xU khw;whFk;. 
2. nuhf;f ml;il> fld; ml;il> gw;Wml;il> Kd;$l;bNa gzk; 

nrYj;jg;gl;l ml;il> tzpfepWtd ml;il> me;epa nrythzp ml;il 
kw;Wk; #l;bif ml;il vd;W nefpopg;gzk; gy;NtW tbtq;fspy; 
te;Jnfhz;bUf;fpwJ. 

a. 1, 2   b. 1  c. 2  d. Nkw;$wpa VJkpy;iy 
   
13. Which of the following statements about primary functions of money 

is/are incorrect? 
1. Medium of Exchange  2. Store of Value  
3. Measure of Value   4. Standard of Deferred Payments  
a. 1, 2  b. 3, 4  c. 1, 3  d. 2, 4  
gzj;jpd; Kjd;ik gzpfs; gw;wp gpd;tUk; $w;Wfspy; vit jtwhdit? 

 1. ,ilaPl;Lf;fUtp   2. kjpg;G epiyf;fsd; 
 3. kjpg;gsit   4. tUq;fhy nrYj;Jjy;fSf;F mbg;gil 

a. 1, 2  b. 3, 4  c. 1, 3  d. 2, 4  
 

14. Consider the following statements. 
a. Money supply plays a crucial role in the determination of price level 

and interest rates    
b. Currency notes and coins are issued by Reserve bank of India.  
c. The currency notes are also called fiat money and legal tenders  
d. Money supply is a stock variable 

a. All the above are correct   b. 1, 2, 4 are correct  
c. 2, 3, 4 are correct    d. 1, 3, 4 are correct  



 

7 | Page PH: 24339436, 42867555, 9840226187 

 

  
gpd;tUk; $w;Wfis Ma;f 
1. tl;btpfpjk;> tpiythrp Nghd;wtw;iw epu;zapg;gjpy; gzmspg;G 

Kf;fpag; gq;fhw;Wfpd;wJ. 
2. ,e;jpahtpy; fhfpjg; gzq;fs; kw;Wk; ehzaq;fis upru;t; tq;fp 

ntspapLfpwJ. 
3. fhfpj gzq;fs; mjpfhuk; ngw;w rl;l G+u;tkhd nryhtzpahFk; 
4. gz mspg;G vd;gJ xU gq;F khwp (Stock variable). 
a. midj;Jk; rup    b. 1> 2> 4 rup 
c. 2> 3> 4 rup    d. 1> 3> 4 rup 
  

15. Which of the following statements about measure of money supply is/are 
correct? 
1. M1 = Currency, coins and demand deposits 
2. M2 =  M1 + Total deposits with post offices 
3. M3 =  M3 + Time deposits of all commercial and cooperative banks  
4. M4 =  M3 + Savings deposits with post office savings banks  
5. M1 and M2 are known as narrow money  
6. M3 and M4 are known as broad money  
a. 1, 3, 4, 6  b. 2, 4, 5, 6  c. 1, 3, 5, 6  d. 2, 3, 4, 5  

 gzmspg;G mstPLfisg; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
1. M1 = fhfjpg;gzk;> ehzaq;fs; kw;Wk; Nfl;G itg;Gfs;. 

2. M2 = M1 + mQ;ryfj;jpYs;s midj;J itg;Gfs; 
3. M3 = M2 + midj;J tzpf tq;fpfs; kw;Wk; $l;LwT tq;fpfspYs;s 

fhy itg;Gfs;  
4. M4 = M3 + mQ;ryf Nrkpg;G tq;fpapd; Nrkpg;G itg;Gfs;. 

5. M1 kw;Wk; M2 FWfpa gzk; vd;wiof;fg;gLfpwJ. 
6. M3 kw;Wk; M4 gue;j epiy gzk; vd;wiof;fg;gLfpwJ. 
a. 1, 3, 4, 6  b. 2, 4, 5, 6  c. 1, 3, 5, 6  d. 2, 3, 4, 5  
 

16. Velu Nachiyar and her Daughter lived under the protection of Gopal 
Nayakar for _______ years 

          a. 7                b. 8             c.  11                 d. 12 
NtY ehr;rpahh; kw;Wk; mtuJ kfs; Nfhghy; ehaf;fh; ghJfhg;gpy; vj;jid 
Mz;Lfs; ,Ue;jdh;? 

 a. 7                b. 8             c.  11                 d. 12 
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17. Consider the following statements   
 Assertion (A): Madras Government declared war against Veerapandiya  

   Kattabomman 
Reason (R): As Madras government considered Kattabomman‟s  

confederacy with Marudhu Brother‟s as a challenge to their 
Authority                                                 

a. Both A and  R is correct ; R explains A  
b. Both A and R is correct ; R doesn‟t explains A 
c. A is correct R is wrong  
d. A is wrong R is correct 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nkl;uh]; muR tPughz;ba fl;lnghk;kDf;F vjpuhf Nghh;  

    mwptpj;jJ 
fhuzk; (R): fl;lnghk;kd; kUJ rNfhjuh;fSld; itj;Jf;nfhz;l  

$l;lhdhJ jq;fSf;F xU rthyhf ,Uf;Fnkd;W nkl;uh]; 
muR fUjpaJ 

a. A kw;Wk; R rhp> R vd;gJ Atpw;F rhpahd tpsf;fk; 

b. A kw;Wk; R rhp> R vd;gJ Atpw;F rhpahd tpsf;fky;y 

c. A rhp R jtW 

d. A jtW R rhp 
 

18. The First Victim [English officer] of 1806 Vellore Revolt was _____ 
 a. Major Cootes                    b. Major Armstrong  
 c. Lt. Popham                     d. Col. Fancourt  

1806Mk; Mz;L NtY}h; Gul;rpapd; NghJ Kjypy; gypahd Mq;fpy mjpfhhp 
__________ 
a. Nk[h; $l;];   b. Nk[h; Mh;k;];l;uhq; 

c. nyg;bdy; Nghgk;  d. fh;dy; Ngd;Nfhh;l; 
 

19. One Varahan is equivalent to _________ Rupees in Mysore 
 a. One and half   b. Two and half 
 c. Three and half   d. Four and half 
 ik#hpy; xU tuhfd; vd;gJ vj;jid &gha;f;F rkk; _______ 
 a. xd;wiu &gha;f;F  b. ,uz;liu &gha;f;F 

 c. %d;wiu &gha;f;F  d. ehd;fiu  &gha;f;F 
 
 



 

9 | Page PH: 24339436, 42867555, 9840226187 

 

20. Torture Act in Madras Presidency was abolished by the due efforts of 
_____ 

 a. Madras Native Association   b. Madras Mahajana Sabha 
 c. Swadeshi Steam Navigation Company d. Justice Party 

nkl;uh]; khfhzj;jpy; ,Ue;j rpj;jputij rl;lk; ahUila Kaw;rpahy; 
xopf;fg;gl;lJ? 
a. nrd;idthrpfs; rq;fk;    b. nrd;id kfh[d rq;fk; 
c. RNjrp ePuhtpf;fg;gy; epWtdk;   d. ePjpf;fl;rp 

 
21. Match the following: 

Day     Event  
A. 10 October - 1. World Polio Day  
B. 11 October - 2. International Day of Disaster Risk Reduction  
C. 24 October  - 3. World Obesity Day  
D. 17 October  - 4. World Mental Health Day  
E. 13 October  - 5. International Day for the Eradication of 
Poverty  
 A B C D E 
a. 5 4 1 2 3 
b. 1 5 3 4 2 
c. 4 3 1 5 2 
d. 3 2 4 1 5 
nghUj;Jf 
jpdk;    epfo;T 
A. mf;Nlhgh; 10  1. cyf NghypNah jpdk; 
B. mf;Nlhgh; 11  2. rh;tNjr Nghplh; Mgj;J Fiwg;G jpdk; 

C. mf;Nlhgh; 24  3. cyf cly;gUkd; jpdk; 
D. mf;Nlhgh; 17  4. cyf kd eyk; jpdk; 
E. mf;Nlhgh; 13  5. rh;tNjr tWik xopg;G jpdk; 

 A B C D E 
a. 5 4 1 2 3 
b. 1 5 3 4 2 
c. 4 3 1 5 2 
d. 3 2 4 1 5 
 

22. Where India‟s first e-waste clinic to be set up? 
a. Bhopal, Madhya Pradesh  b. Ranchi, Jharkhand  
c. Shillong, Meghalaya    d, Bengaluru, Karnataka    
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,e;jpahtpd; Kjy; kpd; fopT mfw;W ikak; vq;F mikf;fg;glTs;sJ? 
a. Nghghy;> kj;jpagpuNjrk; b. uhQ;rp> [hh;fz;l; 
c. ~py;yhq;> Nkfhyah  d. ngq;f@U> fh;ehlfk; 

 
23. Match the following: 

Indices       India‟s Position  
A. Global Competitiveness Index  1. 102nd  
B. Global Hunger Index     2. 82nd  
C. World Giving Index     3. 68th  
D. Ease of Doing Business Index  4. 63rd 
 A B C D 
a. 4 3 2 1 
b. 2 4 1 3 
c. 1 4 3 2 
d. 3 1 2 4 
nghUj;Jf 
FwpaPLfs;      ,e;jpahtpd; epiy 
A. cyf Nghl;bf;FwpaPL    1. 102 
B. cyf grpf;FwpaPL    2. 82 

C. cyf toq;fy; FwpaPl   3. 68 

D. njhopy;Ghpa cfe;j ,lf;FwpaPL  4. 63 
 A B C D 
a. 4 3 2 1 
b. 2 4 1 3 
c. 1 4 3 2 
d. 3 1 2 4 
 

24. Who is the only Indian among 300 researchers to join Mosaic Expedition 
for the study of Arctic climate expedition? 
a. Vishnu Varadhan b. Vishnu Nandan  
c. Vishnu Sharma   d. Vishnu Kumar  
Mh;f;bf; fhyepiy Rw;Wg;gazkhd MOSAiC Rw;Wg;gazj;jpw;fhf 
Njh;e;njLf;fg;gl;l 300 Muha;r;rpahsh;fspy; xUth; kl;LNk ,e;jpah;> mth; 
_________ 
a. tp~;Z tujd;  b. tp~;Z ee;jd; 

c. tp~;Z rh;kh  d. tp~;Z Fkhh; 
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25. Who has been appointed as the chairperson of the Fourth police 
commission of Tamil Nadu? 
a. Rohini    b. Sheela Priya  
c. Girija Vaidyanathan    d. Laxmi Pranesh  
jkpofj;jpd; ehd;fhtJ fhty; FO jiytuhf epakpf;fg;gl;lth; ahh;> 
a. Nuh`pdp    b. ~pyh gphpah 
c. fphp[h itj;jpaehjd;  d. y~;kp gpuNd~; 

 
26. A number consists of 3 digits whose sum is 10. The middle digit is equal to 

the sum of the other two and the number will be increased by 99 if its 
digits are reversed. The number is: 
a. 145  b. 253  c. 370   d. 352 
xU %d;wpyf;f vz;zpd; $Ljy; 10. eLntz;zpd; kjpg;ghdJ kw;w 
vz;fspd; $LjYf;F rkk;. me;j %d;wpyf;f vz;iz tyJGwkpUe;J 
ghh;f;Fk;nghOJ Ke;ija kjpg;igtpl 99 mjpfhpf;fpwJ vdpy; me;j vz; 
ahJ? 
a. 145  b. 253  c. 370   d. 352 

 
27. If a number is as much greater than 31 as it is less than 75, then the number 

is 
 a. 53    b. 106     c.44         d. 74 

xU vz;zhdJ 31-I tpl vt;tsT mjpfkhf cs;sNjh mNj msT  
75-I tpl Fiwthf cs;sJ vdpy; me;j vz;izf; fhz;f 
a. 53    b. 106     c.44            d. 74 

 
28. Which of the following number is divisible by 9? 
 a. 8576901  b. 96345210  c. 67594310  d. 2784224 

fPNo nfhLf;fg;gl;Ls;s vz;fspy; 9My; tFgLk; vz; ahJ? 
 a. 8576901  b. 96345210  c. 67594310  d. 2784224 
 
29. In a division sum the divisor is 12 times the quotient and 5 times the 

remainder, If the remainder is 24, then the dividend is 
a. 1224  b. 1242  c. 1222  d. 120 
xU tFgLk; vz;zpd; tFj;jpahdJ <itg;Nghy; 12 klq;F> kPjpiag; Nghy; 
5 klq;F cs;sJ. NkYk; kPjpahdJ 24 vdpy;> tFgLk; vz; 
a. 1224  b. 1242  c. 1222  d. 120 

 
30. The difference between two numbers is 642.  If the larger number when 

divided by the smaller one given 8 as quotient and a remainder of 19.  
What will be the largest number?  
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a. 715  b. 723       c. 731   d. 740 
,U vz;fSf;fpilNaahd tpj;jpahrk; 642. mjpy; nghpa vz;iz rpwpa 
vz;zhy; tFf;Fk;NghJ 8 <thfTk; 19 kPjpahfTk; fpilf;fpwJ vdpy; 
nghpa vz; ahJ? 
a. 715  b. 723       c. 731   d. 740 
 

31. Consider the following statements 
I. Cisgender is a term for people whose gender matches the sex, that 

they were assigned at birth. It is the opposite of term transgender 
II. Latvia is a farmer Soviet Union country and experienced a great 

decline in female population during world war two 
a. I, II are correct   b. Only I is correct 
c. Only II is correct  d. I, II are incorrect 
gpd;tUk; $w;Wfspy; vit rhpahdit? 
I. rp];n[z;lu; gpwf;Fk;NghJ xUtUf;F nfhLf;fg;gl;l ghypd 

milahsk; jw;Nghija ghypd milahsj;Jld; xj;Jg;NghFk;NghJ 
me;j egiuf; Fwpf;Fk; nrhy;. ,J jpUeq;if vd;Dk; nrhy;ypw;F 
vjpu;r;nrhy;yhFk;. 

II. Kd;dhs; Nrhtpaj; xd;wpaj;jpd; ehlhd yhl;tpah ,uz;lhk; 
cyfg;Nghu; fhyj;jpy; ngz;fspd; vz;zpf;if ngUk; rupitf; 
fz;lJ. 

a. I, II rup  b. I kl;Lk; rup  c. II kl;Lk; rup d. I, II jtW 
 

32. Presently _______ has the highest literacy rate in India 
a. Tripura  b. Kerala  c. Mizoram  d. Lakshadweep 
jw;NghJ ,e;jpahtpy; mjpf vOj;jwpT tPjk; nfhz;lJ. 
a. jpupGuh  b. Nfush  c. kpNrhuk;  d. yl;rj;jPTfs; 
 

33. Which of the following country has the largest number of emigrants in the 
world? 
a. England  b. India  c. Mexico  d. Bangladesh 
gpd;tUtdtw;Ws; cyfpNyNa kpf mjpf FbNaw;wk; nra;j ehL? 
a. ,q;fpyhe;J b. ,e;jpah  c. nkf;rpNfh  d. tq;fhsNjrk; 
 

34. Impacts of overpopulation 
1. Depletion of natural resources 
2. Accelerated habitat loss 
3. Loss of biodiversity 
4. Rise in unemployment, crime rate and violence 
5. Increased intensive farming 
a. 1, 2, 3, 4  b. 1, 2, 4, 5  c. 1, 2, 3, 5  d. 1, 2, 3, 4, 5 
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mjPj kf;fs;njhifahy; Vw;gLk; tpisTfs; 
1. ,aw;if tsq;fs; jPu;e;J Nghjy; 
2. mjpfupj;J tUk; thopl ,Ug;G 
3. capupdg;gd;ik ,og;G 
4. mjpfupf;Fk; Ntiytha;g;gpd;ik> Fw;wq;fspd; tpfpjk; kw;Wk; td;Kiw  
5. mjpfupf;Fk; jPtpu Ntshz;ik 
a. 1, 2, 3, 4  b. 1, 2, 4, 5  c. 1, 2, 3, 5  d. 1, 2, 3, 4, 5 
 

35. Which of the following country has the highest male to female in the world 
in 2018? 
a. Mexico  b. Saudi Arabia  c. Qatar d. Pakistan 
gpd;tUtdtw;Ws; ve;j ehL kpf mjpf Mz; - ngz; ghypd tpfpjk; 
nfhz;lJ (2018-d; gb)? 
a. nkf;rpNfh  b. rTjpmNugpNa  c. fj;jhu; d. ghfp];jhd; 
 

36. The strong of soul no jot abate of 'strict decorum's' laws, 
Knowing that 'due decorum's' breach foulest disgrace will cause  

 In the above Thirukural „strong of soul‟ means 
 a. will power b. effort c. relentless effort  d. none of these 
 xOf;fj;jpd; Xy;fhh; cuNthh; ,Of;fj;jpd; 

Vjk; gLghf;F mwpe;J 
,f;Fwspy; cuNthh; vd;gjd; nghUs; ahJ? 
a. kdtypik b. Kaw;rp c. ,iltplh Kaw;rp  d. ,it VJkpy;iy 
 

37. Of things devoid of truth as real things men deem;- 
Cause of degraded birth the fond delusive dream!. 
This Kural comes under which chapter? 
a. Wealth without Benefaction   
b. Truth consciousness 
c. Way of accumulating wealth   
d. The Way of maintaining a family 
nghUs;my;y tw;iwg; nghUs;vd;W czUk; 
kUshd;Mk; khzhg; gpwg;G 
,f;Fws; ,lk;ngWk; mjpfhuk; vJ? 
a. ed;wp,y; nry;tk;  b. nka;Azh;jy; 

c. nghUs;nray;tif  d. Fbnray;tif 
 

38. Find out the figure of speech for the following Kural 
When he whom no man loves exults in great prosperity, 
'Tis as when fruits in midmost of the town some poisonous tree. 
a. Metaphor  b. Simile  c. Euphemism  d. Irony 
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 gpd;tUk; Fwspy; gapd;W tUk; mzp ahJ? 
er;Rg; glhjtd; nry;tk; eLCUs; 
er;R kuk;gOj; jw;W 
a. cUtfk;  b. ctik c. kq;fytof;F  d. tQ;rg;Gfo;r;rp 

 
39. 'Tis no reproach unpropitious fate should ban; 

But not to do man's work is foul disgrace to man!. 
In this Kural according to Valluvar what is disgraceful for man? 
a. To be without exertion and without knowing what should be known 
b. Keeping wealth with oneself and not giving to others 
c. Not taking effort and being lazy  
d. None of these 
nghwp,d;ik ahh;f;Fk; gopmd; wwptwpe; 
jhs;tpid ,d;ik gop 
,f;Fwspy; ts;Sth; ,opntd ,bj;Jiug;gJ vJ? 
a. mwpa Ntz;baij mwpa Kaw;rp nra;ahky; ,Uj;jy; 
b. nry;tj;ij gpwUf;F toq;fhky; jhNd itj;Jf;nfhs;Nthiu 
c. Kaw;rp ,d;wp Nrhk;gp jphpNthiu 
d. ,it VJkpy;iy 
 

40. Who will win even fate? 
a. They who take relentless effort 
b. They who worship god relentlessly 
c. They who worship parents relentlessly 
d. They who work 
CioAk; cg;gf;fk; fhz;Nghh; ahh;? 
a. ,iltplhj Kaw;rp nra;Nthh; 
b. ,iltplhJ ,iwtid njhONthh; 
c. ,iltplhJ ngw;Nwhiu njhONthh; 
d. ciog;Nghh; 

 
41. Which of the following statements about currency symbol is/are correct? 

1. The New Symbol was designed by D. Udaya Kumar, a post graduate 
of IIT Bombay  

2. The symbol of India rupee came into use on 15th June, 2010 
3. India is the 5th country to accept a unique currency symbol   

a. 1, 2, 3  b. 1, 2  c. 2, 3  d. 1, 3 
  
 



 

15 | Page PH: 24339436, 42867555, 9840226187 

 

 
gzf;FwpaPL gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
a. ,e;jpa njhopy;El;gf; fofk; (IIT) Kk;igapy; KJfiyg;gl;lk; ngw;w D. 
cjaFkhuhy; tbtikf;fg;gl;lJ. 

b. Gjpa gzf; FwpaPL [Pd; 15> 2010 Kjy; mkYf;F te;jJ. 
c. ,e;jpah jdpg; gzf;FwpaPL nfhz;l ehLfspy; 5-tjhf cs;sJ. 
a. 1, 2, 3  b. 1, 2  c. 2, 3  d. 1, 3 
 

42. Which of the following pair is/are incorrect? 
a. CDR – Currency Deposit Ratio b. RDR – Reverse Deposit Ratio 
c. CRR – Cash Reserve Ratio  d. SLR – Statutory Liquidity Ratio   

 gpd;tUk; ,izfspy; vit jtwhdit? 
 a. CDR – nuhf;f itg;G tpfpjk; b. RDR – kPs; itg;G tpfpjk; 

c. CRR – nuhf;f ,Ug;G tpfpjk; d. SLR – rl;lG+u;t ePu;ik tpfpjk; 
 

43. Who published the book “The Purchasing Power of Money” in 1911? 
a. Davanzatti b. Irving Fisher  c. J.M. Keynes   d. Marshall   

 “gzj;jpd; thq;Fk; rf;jp” vd;w E}iy 1911-,y; ntspapl;ltu;? 
 a. lhtd;~l;b b. ,u;tpq; gp~u; c. J.M fPd;];   d. khu;~y; 

 
44. Which of the following statements about inflation is/are correct? 

1. Rise in the general price level  
2. Purchasing power of currency is rising  
3. Fall in the general price level   
a. 1, 2 b. 3  c. 1  d. 2  

 gztPf;fk; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
 1. nghJthd tpiythrp cau;T 
 2. gzj;jpd; thq;Fk; rf;jp mjpfupf;Fk; 

3. nghJthd tpiythrp FiwtJ. 
a. 1, 2 b. 3  c. 1  d. 2  
 

45. Which of the following statements is/are correct? 
1. Ricks Banks of Sweden was established in 1656   
2. Bank of England is the oldest central bank in the world 
3. International Finance conference held at Brussels in 1921 
4. The first bank of India was Bank of Hindustan  
a. 1, 2  b. 2, 4  c. 1, 4  d. 1, 3  
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gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ];tPldpd; upf;]; tq;fp 1656 ,y; epWtg;gl;lJ. 
2. ,q;fpyhe;J tq;fp cyfpd; Kjy; ika tq;fp  
3. 1921- ,y; gd;dhl;L epjp khehL gpu];]y;]; efupy; eilngw;wJ. 
4. ,e;J];jhd; tq;fp ,e;jpahtpd; Kjy; tq;fp. 
a. 1, 2  b. 2, 4  c. 1, 4  d. 1, 3  

 
46. The Earliest organisation in South India with Clear Nationalist Objectives 

was ______ 
 a. The British India Association  b. East India Association 
 c. Madras Mahajana Sabha  d. Madras Dravidian Association 

njd;dpe;jpahtpy; njspthd Njrpa Nehf;fq;fSld; Jtq;fg;ngw;w 
njhlf;fhy mikg;G __________ 
a. gphpl;b~; ,e;jpa fofk;  b. fpof;fpe;jpa fofk; 
c. nrd;id kfh[d rig  d. nkl;uh]; jpuhtplf;fofk; 

 
47. Vanchinathan Shot dead Collector Ashe using a Browning Pistol on _____ 

a. 16 June 1911   b. 11 June 1917. 
 c. 17 June 1911   d. 11 July 1917. 

thQ;rpehjd; fnyf;lh; Mi~ Jg;ghf;fpahy; Rl;Lf;nfhd;w ehs; ________ 
a. 16 [{d; 1911   b. 11 [{d; 1917 
c. 17 [{d; 1911   d. 11 [{iy 1917 

   
48. Bipin Chandra Pal during his Madras tour (May1907) gave a fiery Speech 

in _______  
 a. Thousand lights  b. Triplicane  

c. Mylapore   d. Marina Beach 
gpgpd; re;jpughy; jdJ nkl;uh]; Rw;Wg;gazj;jpd;NghJ (Nk 1907) vq;F 
jdJ ciuia toq;fpdhh;? 
a. Mapuk; tpsf;F  b. jpUty;ypf;Nfzp   

c. ikyhg;g+h;   d. nkhpdh flw;fiu 
 
49. The Epic Center of Khilafat Agitation in Madras Presidency was ______ 
 a.  Kayalpattinam   b. Ambur   

c. Vaniyambadi   d. Vellore 
_________ nkl;uh]; khfhzj;jpy; fpyhgj; vOr;rp eltbf;iffspd; Kf;fpa 
ikakhf jpfo;e;jJ 
a. fhay;gl;bdk;  b. Mk;g+h;   

c. thzpak;ghb  d. NtY}h; 
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50. The First Woman to Pay Penalty for Violation of Salt law in India was 

_____ 
 a. Sarojini Naidu   b. Ambujammal 
 c. Rukmani Lakshmipathy d. Annie Besant 

,e;jpahtpy; cg;Gr;rl;lq;fis kPwpajw;fhf mguhjk; nrYj;jpa Kjy; 
ngz;kzp ___________ 
a. rNuh[pdp ehAL   b. mk;G[k;khs; 

c. Uf;kzp yr;Rkpgjp  d. md;dpngrd;l; 
 

51. Where India‟s first Garbage café was set up? 
a. Arni, Tamil Nadu  b. Anantpur, Andhra Pradesh  
c. Ambala, Punjab   d. Ambikapur, Chhattisgarh   
,e;jpahtpd; Kjy; Fg;ig epiyak; vq;F mikf;fg;gl;Ls;sJ? 
a. Muzp> jkpo;ehL  b. mde;jg;g+h;> Me;jpugpuNjrk; 
c. mk;ghyh> gQ;rhg;  d. mk;gpfhg+h;> rl;b~;fh; 

 
52. Match the following: 

Nobel Prize, 2019   Person  
A. Literature     1. Akira Yoshino  
B. Physics     2. Michel Mayor  
C. Chemistry    3. Abhijit Banerjee  
D. Economics   4. Abiy Ahmed Ali  
E. Peace     5. Peter Handke  
 A B C D E 
a. 4 5 1 3 2 
b. 1 5 3 2 4 
c. 5 2 1 3 4 
d. 3 5 2 1 4    
nghUj;Jf 
Nehgy; ghpR 2019   egh;fs; 
A. ,yf;fpak;   1. mfpuh ah~pNdh 
B. ,aw;gpay;   2. ikf;Nfy; NkNahh; 

C. Ntjpapay;   3. mgp[pj; ghdh;[p 
D. nghUshjhuk;   4. mgp mfkJ myp 
E. mikjp    5. gPl;lh; `hd;l;Nf 
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 A B C D E 
a. 4 5 1 3 2 
b. 1 5 3 2 4 
c. 5 2 1 3 4 
d. 3 5 2 1 4    
 

53. Who were allowed to cast their votes through postal ballot, after 
amendment to conduct of Election Rules, 1961? 
a. Octagenerians    b. Nonagenerians  
c. Septuagenerian    d. Pentagenerian       
1961Mk; Mz;L Njh;jy; tpjpfspy; jpUj;jk; nra;ag;gl;lgpd; jq;fs; 
thf;Ffis mQ;ry; %ykhf nrYj;Jtjw;F mDkjpf;fg;gl;lth; ahh;? 
a. 80 – 89 taJf;Fl;gl;Nlhh;fs; b. 90 – 99 taJf;Fl;gl;Nlhh;fs; 
c. 69 – 80 taJf;Fl;gl;Nlhh;fs; d. 50 – 59 taJf;Fl;gl;Nlhh;fs; 
 

54. Match the following: 
Books     Authors  

A. Bridgital Nation     1. N Chandrasekaran & Roopa  
Purushottam  

B. The Tech whisperer   2. Kasi Nath Pandit  
C. Ten Studies in Kashmir  
History and Politics   3. Jaspreet Bindra  
D. Mind Master: Winning  
Lessons from a champion‟s life  4. Viswanathan Anand 
 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 4 2 1 3 
d. 1 3 2 4 
nghUj;Jf 
Gj;jfq;fs;     Mrphpah;fs; 
A. Bridgital Nation     1. N re;jpuNrfud; & &gh GUNrhj;jk; 
B. The Tech whisperer   2. fhrpehj; gz;bl; 
C. Ten Studies in Kashmir  
History and Politics   3. [h~;gphpl; gpe;Juh 
D. Mind Master: Winning  
Lessons from a champion‟s life  4. tp];tehjd; Mde;j; 
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 A B C D 
a. 1 2 3 4 
b. 4 3 2 1 
c. 4 2 1 3 
d. 1 3 2 4 
  

55. What is the name of the world‟s loudest bird? 
a. White Bell Bird    b. Bachman‟s Warbler  
c. Seychelles Parakeet   d. Laysan Rail   
cyfpd; cuf;f rj;jkpLk; gwit vJ? 
a. nts;is kzp gwit  b. ghf;nkd; thh;gpyh; 
c. nrapr;ry;]; ghuhfPl;  d. Nyrd; ,uapy; 
 

56. The total number of prime numbers between 70 and 100? 
a. 9   b. 7   c. 5   d. 6 
70-,y; ,Ue;J 100 tiuAs;s nkhj;j gfh vz;fspd; vz;zpf;if ahJ? 
a. 9   b. 7   c. 5   d. 6 

 
57. Thrice the square of a natural number decreased by 4 times the number is 

equal to 50 more than the number. The number is : 
  a. 4   b. 5    c. 6    d. 10 

xU ,ay; vz;zpd; th;f;fj;ij Kk;klq;fhf;fp mjpypUe;J ,ay; vz;zpd; 
4 klq;fpid fopf;Fk; nghOJ fpilf;Fk; kjpg;ghdJ me;j ,ay; vz;zpd; 
kjpg;ig tpl 50 mjpfkhFk; vdpy; me;j ,ay; vz; ahJ? 
a. 4   b. 5    c. 6    d. 10 

 
58. Show below are four different positions of the same dice. Find the number 

on the face opposite the face showing 6. 

 
 a. 1       b. 2     c. 4        d. 5 
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xU gfilapd; ehd;F ntt;NtW epiyfs; fPNo fhl;lg;gl;Ls;sJ. 6 vd;w 
vz;Zf;F vjpNu cs;s vz; ahJ? 

 
 a. 1       b. 2     c. 4        d. 5 
 
59. Select from, the alternatives, the box that can be formed by folding the 

sheet shown in figure (X) : 

 
a. A only         b. B only                 c. A and C only        d. A, B, C and D 
X vd;W Fwpf;fg;gl;Ls;s glj;jpidf; nfhz;l jhspid kbj;jhy; 
fpilf;Fk; tpil vd;d? 

 
 a. A kl;Lk;   b. B kl;Lk;        c. A kw;Wk; C kl;Lk;        d. A, B, C kw;Wk; D 
 

60. Amongst the following figures, find the correct one, if it is known that the 
total number of dots on opposite faces of the cube shown is always 7. 

  
  a  b  c  d 
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nfhLf;fg;gl;Ls;s glq;fspy; ,Ue;J rhpahd xd;iw Njh;T nra;aTk;. xU 
gfilapy; ,uz;L vjph;g;gf;fq;fspd; $Ljy; vg;nghOJk; Vohf ,Uf;f 
Ntz;Lk;. 

  
  a  b  c  d 

 
61. Which of the following is called as “Black race”? 

a. Mongoloid b. Negroid  c. Australoid d. Caucasoid 
“fUg;G ,dj;jtu;” vd;W miof;fg;gLk; ,dk;? 
a. khq;Nfhyha;L b. ePf;uha;L  c. M];l;uyha;L d.fhfrha;L 
 

62. Consider the following statements 
I. The Dravidian people are any native speakers of Dravidian 

languages in the Indian subcontinent 
II. The five major ethnic groups of Dravidian people in India are Tamil, 

Telugu, Kannada, Malayalam, Brahui 
a. I, II are correct  b. Only I is correct 
c. Only II is correct d. I, II are incorrect 
gpd;tUk; $w;Wfspy; vit rhpahdit? 
I. ,e;jpaj; Jizf; fz;lj;jpy; cs;s jpuhtpl nkhopia jha; 

nkhopahf NgRk; cs;@u; kf;fNs jpuhtplu;fs;. 
II. jkpo;> njYq;F> fd;dlk;> kiyahsk;> gpuhFap Mfpa Ie;J Kf;fpa 

jpuhtpl ,df;FOf;fs; ,e;jpahtpy; cs;sd 
a. I, II rup  b. I kl;Lk; rup  c. II kl;Lk; rup d. I, II jtW 
 

63. The only Dravidian language has been written in the Arabic Script was 
_______ 
a. Malayalam  b. Brahui  c. Tulu  d. Kannada 
mNugpa vOj;J tbtj;jpYs;s xNu jpuhtpl nkhop _____. 
a. kiyahsk;  b. gpuhFap  c. JS  d. fd;dlk; 
 

64. Consider the following statements 
I. Monotheistic: the followers of monotheism believe in a single god 
II. Polytheistic: The followers of polytheism believe in many gods 

(Hinduism) 
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a. I, II are correct    b. Only I is correct 
c. Only II is correct   d. I, II are incorrect 
gpd;tUk; $w;Wfis Ma;f. 
I. xNu flTs; Nfhl;ghL: xU flTis topgLgtu;fs; xNu flTs; 

Nfhl;ghl;il gpd;gw;Wgtu;fs; 
II. gy flTs; Nfhl;ghL: gy flTs;fis topgLgtu;fs; (,e;J kjk;) 
a. I, II rup  b. I kl;Lk; rup c. II kl;Lk; rup  d. I, II jtW 
 

65. Which of the following pairs is/are incorrect? 
I. Universalizing religions – Christianity, Islam, Buddhism 
II. Ethnic religions – Sikhism, Parsi  
III. Tribal or Traditional religions – animism, shamanism, secular 
a. I, II, III  b. I, II  c. II  d. III 
gpd;tUk; ,izfspy; vit jtwhdit? 
I. cyfshtpa kjq;fs; - fpwp];jtk;> ,];yhk;> Gj;jkjk;. 
II. ,dkjq;fs; - rPf;fpak;> ghu;]p. 
III. goq;Fb my;yJ ghuk;gupa kjq;fs; - ,aw;ifia topgLk; kjk;> 

kha ek;gpf;if> kjr;rhu;gw;wtu;fs;. 
a. I, II, III  b. I, II  c. II  d. III 

 
66. Match the following 

Chapter    Number 
A. Futile Wealth  1. 56  
B. Manly Effort  2. 58   
C. Cruel Tyranny  3. 101  
D. Benignity   4. 62  
 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 3 1 2 4 
d. 4 3 1 2 
nghUj;Jf 
mjpfhuk;   vz;fs; 
A. ed;wp,y; nry;tk; 1. 56 
B. Ms;tpidAilik 2. 58 
C. nfhLq;Nfhz;ik 3. 101 

D. fz;Nzhl;lk;  4. 6 

  



 

23 | Page PH: 24339436, 42867555, 9840226187 

 

 A B C D 
a. 3 4 1 2 
b. 3 4 2 1 
c. 3 1 2 4 
d. 4 3 1 2 
 

67. Benignity means 
a. Sympathy  b. Beautiful look   
c. Empathy  d. Vision 
fz;Nzhl;lk; vd;gjd; nghUs; 
a. ,uf;fk;  b. mofpa Njhw;wk;   

c. fUiz  d. njhiyNehf;F ghh;it 
 

68. How many chapters are there in Virtue? 
a. 38  b. 36  c. 25  d. 70 
mwj;Jg;ghypy; cs;s mjpfhuq;fspd; vz;zpf;if ______ 
a. 38  b. 36  c. 25  d. 70 
 

69. As per Thiruvalluvar year 2020 will be ________ 
a. 2020  b. 2051  c. 2050  d. 2061 
jpUts;Sth; Mz;bd;gb 2020 ___________ 
a. 2020  b. 2051  c. 2050  d. 2061 
 

70. “I wanted to learn Tamil, only to enable me to study Valluvar‟s 
Thirukkural through his mother tongue itself…There is no one who has 
given such treasure of wisdom like him” – who said this? 
a. Gandhi  b. G.U. Pope 
c. Ellis  d. Dr. Albert Schweitzer 
“ehd; jpUf;Fwis mjd; jha;nkhopapy; gbg;gjw;fhfNt jkpio fw;f 
tpUk;gpNdd;. jpUts;Stiug; Nghd;W mwpTf;fUt+yj;ij toq;fpath;fs; 
vtUkpy;iy” – vd;W $wpath; ahh;? 
a. fhe;jp  b. G.U. Nghg; 
c. vy;yp];  d. lhf;lh;. My;gh;l; Ritl;rh; 
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71. Consider the following statements 
1. RBI has given Rs. 68, 000 crores to the government of India in the 

year 2017- 2018  
2. A Non-Banking Financial Institution (NBFI) is a financial institution 

that does not have a full banking license or is not supervised by the 
central bank 

a. 1, 2 are correct    b. Only 1 is correct  
c. Only 2 is correct   d. 1, 2 are incorrect  
gpd;tUk; $w;Wfis Ma;f 

a. ,e;jpa upru;t; tq;fp 2017-2018 Mz;by; jdJ cgup epjpapypUe;J 
kj;jpa muRf;F Rs. 68>000 Nfhb toq;fpAs;sJ. 

b. tq;fpay;yh epjp epWtdq;fs; KO tq;fpf;fhd cupkk; nfhz;lJk; 
my;y> kw;Wk; ika tq;fpahy; fz;fhzpf;fg;gLtJk; ,y;iy. 

a. 1, 2 rup     b. 1 kl;Lk; rup 
c. 2 kl;Lk; rup    d. 1, 2 jtW 
 

72. Consider the following statements 
a. Reserve Bank of India commenced its operations on 1 July, 1935 
b. RBI was nationalized on 1 April 1949  
c. RBI controls the monetary policy of the Indian rupee  
d. RBI Act was enacted in 1934 

a. All the above are correct   b. 1, 2, 4 are correct  
c. 3, 4 are correct     d. 1, 2 are correct  

 gpd;tUk; $w;Wfis Ma;f 
1. ,e;jpa upru;t; tq;fp [_iy 1> 1935 Kjy; nray;glj; njhlq;fpaJ. 
2. ,e;jpa upru;t; tq;fp Vg;uy; 1> 1949-,y; Njrpakakhf;fg;gl;lJ. 
3. upru;t; tq;fp gztpay; nfhs;ifia ntspapLfpwJ. 
4. upru;t; tq;fp rl;lk; 1934-,y; nfhz;Ltug;gl;lJ. 
a. midj;Jk; rup  b. 1, 2, 4 rup  c. 3, 4 rup  d. 1, 2 rup 
 

73. Consider the following statements 
a. Headquarter of RBI moved from Calcutta to Mumbai in 1937 
b. The first rupee was introduced by Sher Shah Suri based on a ratio of 

40 copper pieces  
c. Each Banknote has its amount written in 18 languages illustrating 

the diversity of the country  
d. Foreign Exchange Management Act was enacted in 1997 

a. 1, 2, 3, 4 are correct   b. 1, 2 are correct  
c. 3, 4 are correct    d. 1, 2, 4 are correct  
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gpd;tUk; $w;Wfis Ma;f 
1. 1937 ,y; upru;t; tq;fpapd; jiyikaplk; Kk;igapypUe;J 

fy;fj;jhtpw;F khw;wg;gl;lJ. 
2. n~u;rh #up vd;gtuhy; &.1f;F 40 nrk;G ehzaq;fs; vd;w 

tpfpjj;jpy; Kjy; &gha; ntspaplg;gl;Ls;sJ. 
3. xt;nthU &gha; Nehl;bYk; mjd; kjpg;G 18 nkhopfspy; 

vOjg;gl;bUf;Fk;. 
4. me;epa nryhtzp Nkyhz;ikr; rl;lk; 1997-,y; ,aw;wg;gl;lJ. 

 a. 1>2>3>4 rup  b. 1> 2 rup  c. 3>4 rup  d. 1>2>4 rup 
 

74. Consider the following statements 
a. The Payment and Settlement Systems Act was enacted in 1995  
b. RBI introduced the Banking Ombudsman Scheme in 2007 
c. Banking Regulation Act was enacted in 1949 

a. 1, 2, 3 are correct   b. 1, 2 are correct  
c. 1, 3 are correct    d. 1, 2 are incorrect  
gpd;tUk; $w;Wfis Ma;f 
1. nrYj;Jjy; kw;Wk; jPu;Tr;rl;lk; 1995-,y; ,aw;wg;gl;lJ. 
2. ,e;jpa upru;t; tq;fp 2007,y; tq;fp FiwjPu;g;ghaj;jpid 

mwpKfg;gLj;jpaJ. 
3. tq;fp xOq;FKiwr;rl;lk; 1949,y; ,aw;wg;gl;lJ. 

 a. 1>2>3 rup  b. 1>2rup c. 1> 3 kl;Lk; rup  d. 1> 2 jtW 
 

75. Which of the following statements is/are correct? 
a. NABARD was established in 1982 
b. Agricultural Refinance Development Corporation was established 

by an Act of Parliament and it started Functioning from July 1, 1963  
c. 20 Points economic programme was implemented by former PM 

Indira Gandhi  
d. Government of India setup Regional Rural Banks in 1975 

a. 1, 2, 4  b. 1, 2, 3, 4  c. 2, 3, 4  d. 1, 3, 4   
 gpd;tUk; $w;Wfspy; vit rupahdit? 

1. 1982,y; eghu;L tq;fp epWtg;gl;lJ. 
2. [_iy 1>1963 md;W ghuhSkd;w rl;lg;gb tptrha kWfld; Nkk;ghl;L 

fofk; Muk;gpf;fg;gl;lJ. 
3. 20 mk;rj;jpl;lk; Kd;dhs; gpujku; ,e;jpuh fhe;jp Ml;rpf;fhyj;jpy; 

nray;gLj;jg;gl;lJ. 
4. ,e;jpa muR 1975-,y; tl;lhu Cuf tq;fpfis mikj;jJ. 
a. 1>2>4  b. 1>2>3>4  c. 2>3>4  d. 1>3>4 
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76. During Quit India Movement which Village people attacked a Prison and 
released all the Prisoner in Tamil Nadu? 

 a. Palani   b. Tiruvadanai c. Vaduga Patti d. Andipatti  
nts;isaNd ntspNaW ,af;fj;jpd; ve;j fpuhk kf;fs; rpiwr;rhiyia 
jhf;fp rpiwapy; ,Ue;j jkpof ifjpfis tpLjiy nra;jdh;? 
a. godp  b. jpUthlhid c. tLfgl;b  d. Md;bgl;b 

 
77. A Member of India House (London) who turned in to a Moderate due to 

the efforts of Rajaji was _______  
 a. VVS Iyer     b. Anandacharlu 
 c. Vijaya Ragavachari  d. TSS Rajan 

uh[h[papd; Kaw;rpahy; kpjthjpahf khwpa yz;ldpy; ,Ue;j ,e;jpah 
`T]; cWg;gpdh; ahh;? 
a. VVS Iah;    b. Mde;jrhh;Y 

c. tp[ah ,uhfhthr;rhhp  d. TSS ,uh[d; 
 
78. The People's lawyer who Championed the cause of “Criminal Tribes of 

Tamil Nadu “ was ______ 
 a. V.O. Chidambaram   b. V.G. Surya Narayana Sastri 
 c. Rosappu Durai   d. Yakub Hasan 

kf;fspd; tof;fwpQuhf gzpahw;wp „jkpo;ehl;bd; Fw;wg;guk;giu r%fq;fspd; 
ghJfhtyh;” vd miof;fg;gl;lth; __________ 

 a. t.c. rpjk;guk;   b. V.G. #h;a ehuhazd; rh];jphp 

 c. Nuhrhg;G Jiu   d. ahf;$g; `hrd; 
 
79. The Swadeshi Steam Navigation Company (1906) was Started with an 

Initial Capital of _______ 
 a. Rs. Ten Thousand  b. Rs. Ten lakhs 
 c. Rs. One Crore   d. Rs. Ten Crore. 

vt;tsT &gha; KjyPl;bid nfhz;L RNjrp ePuhtpf;fg;gy; epWtdk; 
Njhw;Wtpf;fg;gl;lJ? 
a. &. gj;jhapuk;   b. &. gj;J yl;rk; 
c. &. xU Nfhb   d. &. gj;J Nfhb 

  
80. The First ever Tamil Daily to Kindle Patriotism among the Masses was 

_____ 
 a. India   b. Swadeshimithran c. Suryaudayam d. Vijaya 

tpLjiy czh;it Cl;ba Kjy; jkpo; ehspjo; _________ 
 a. ,e;jpah  b. RNjrkpj;jpud;  c. #h;Nahjak; d. tp[ah 



 

27 | Page PH: 24339436, 42867555, 9840226187 

 

81. Which cricketer has became first Indian Cricketer to Play 100 T20 
International Matches? 
a. Virat Kohli   b. Smriti Mandana  
c. Harman Preet Kaur   d. Rohit Sharma   
100 rh;tNjr ,UgJ 20 fphpf;nfl; Nghl;bfis epiwT nra;j Kjy; ,e;jpa 
fphpf;nfl; tPuh; ahh;? 
a. tpuhl;Nfhyp   b. ];kphpjp ke;jhdh 

c. `h;kd; gphPj; nfsh;  d. Nuh`pj;rh;kh 
 

82. Which state defeated Tamil Nadu in Vijay Hazare Trophy? 
a. Maharashtra b. Haryana   c. Gujarat   d. Karnataka  
tp[a; `rhNu Nghl;bapy; jkpofj;ij ntd;w khepyk; vJ? 
a. kfhuh~;buk; b. `hpahdh  c. F[uhj;  d. fh;ehlfk; 
   

83. Identify the correct statement: 
1. World space week – 4th October to 10th October 
2. Theme of world space week is The Moon: Gateway to the stars.  
a. Only 1 is correct   b. Only 2 is correct  
c. Both are correct    d. None of these    
rhpahdf; $w;iwf;fhz;f 
1. cyf tpz;ntsp thuk; - mf;Nlhgh; 4 – mf;Nlhgh; 10 
2. tpz;ntsp thuj;jpd; ikaf;fU epyh: el;rj;jpuq;fSf;F Eiothapy; 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,it VJkpy;iy 
 

84. Which country has announced to leave the organization of the Petroleum 
Exporting countries (OPEC)? 
a. Nigeria   b. Ecuador   c. Libya   d. Venezuela   
ngl;Nuhy; nghUl;fspd; Vw;Wkjp ehLfspd; mikg;gpypUe;J (OPEC) 
tpyFtjhf mwptpj;j ehL vJ? 
a. ie[phpah  b. <f;Ntlhh;  c. ypgpah  d. ntdpRyh 
 

85. India‟s first private train Tejas Express runs between? 
a. Sonipat to Ahmedabad  b. Bhopal to New Delhi  
c. Delhi to Agra    d. Lucknow to Delhi 
,e;jpahtpd; Kjy; jdpahh; ,uapyhd Nj[h]; vtw;Wf;fpilNa 
,af;fg;gLfpwJ? 
a. NrhdpNgl; - mfkjhghj; b. Nghghy; - GJ jpy;yp 
c. nly;yp – Mf;uh   d. yf;Ndh – nly;yp 



 

28 | Page PH: 24339436, 42867555, 9840226187 

 

86. A dice is numbered from 1 to 6 in different ways. 
 If 1 is opposite to 5 and 2 is opposite to 3, then 
 a. 4 is adjacent to 3 and 6  b. 2 is adjacent to 4 and 6 

c. 4 is adjacent to 5 and 6  d. 6 is adjacent to 3 and 4 
xU gfilapy; 1 Kjy; 6 tiuapyhd vz;fs; nfhLf;fg;gl;Ls;sJ. 
1-f;F vjpuhf 5-k; 2f;F vjpuhf 3-k; cs;sJ vdpy; 
a. 4f;F mUfpy; 3 kw;Wk; 6 b. 2f;F mUfpy; 4 kw;Wk; 6 

c. 4f;F mUfpy; 5 kw;Wk; 6 d. 6 f;F mUfpy; 3 kw;Wk; 4 
 
87. All the six faces of a cube are coloured with six different colours - black, 

brown, green, red, white and blue. 
Red face is opposite to the black face. 
Green face is between red and black faces. 
Blue face is adjacent to white face. 
Brown face is adjacent to blue face. 
Red face is in the bottom. 
Which of the following is adjacent to green? 
a. Black, white, brown, red  b. Blue, black, red, white 
c. Red, black, blue, white   d. None of these 
xU fdr;rJuj;jpd; MW gf;fq;fspy; KiwNa fUg;G> gOg;G> gr;ir> rptg;G> 
nts;is kw;Wk; ePy tz;zq;fs; jPl;lg;gl;Ls;sd. 
rptg;gpw;F vjpuhf fUg;G cs;sJ 
gr;ir epwkhdJ rptg;gpw;Fk; fUg;gpw;Fk; ,ilapy; cs;sJ 
ePy epwkhdJ nts;isf;F mUfpy; cs;sJ 
gOg;G epwkhdJ ePy epwj;jpw;F mUfpy; cs;sJ 
rptg;G epwkhdJ fPo;g;gFjpapy; cs;sJ 
gr;irf;F mUfpy; cs;s epwq;fs; ahit? 
a. fUg;G> nts;is> gOg;G> rptg;G b. ePyk;> fUg;G> rptg;G> nts;is 
c. rptg;G> fUg;G> ePyk;> nts;is d. ,it VJkpy;iy 

 
88. The shadow of a pole with the height of 8 m is 6m. If the shadow of 

another pole measured at the same time is 30m, find the height of the pole?  
a. 30 m  b. 22.5 m  c. 40 m  d. 42 m 

      8 kP ePsKs;s fk;gj;jpd; epoypd; ePsk; 6 kP.  mNj Neuj;jpy;> 30kP epoy; 
 Vw;gLj;Jk; kw;nwhU fk;gj;jpd; ePsk; vt;tsT? 
 a. 30 m  b. 22.5 m  c. 40 m  d. 42 m 
 
89. If 30 men can reap a field in 15 days, then in how many days can 20 men 

reap the same field?  
a. 25 days  b. 22 ½ days  c. 40 days  d. 20 days 
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30 egu;fs; xU taiy 15 ehl;fspy; mWtil nra;fpwhu;fs; vdpy;> 20 
egu;fs; vj;jid ehl;fspy; mt;taiy mWtil nra;thu;fs;? (myF 
Kiwiag; gad;gLj;Jf) 
a. 25 ehl;fs; b. 22 ½ ehl;fs; c. 40 ehl;fs; d. 20 ehl;fs; 

  
90. A farmer has enough food for 144 ducks for 28 days. If he sells 32 ducks, 

how long will the food last?  
a. 40 days  b. 30 days  c. 126 days  d. 36 days 
xU tptrhapaplk; 144 thj;JfSf;F 28 ehl;fSf;Fj; Njitahd czT 
cs;sJ. mtu; 32 thj;Jfis tpw;Wtpl;lhu; vdpy;> mtuplk; cs;s czT 
kPjKs;s vj;jid ehl;fSf;Fg; NghJkhdjhf ,Uf;Fk;? 
a. 40 ehl;fs; b. 30 ehl;fs; c. 126 ehl;fs; d. 36 ehl;fs; 
  

91. The oldest ethnic religion of the world is _________ 
a. Christianity  b. Islam c. Buddhism d. Hinduism 
cyfpd; kpf goikahd kjk; ____. 
a. fpwp];jtk;  b. ,];yhk; c. Gj;jkjk;  d. ,e;Jkjk; 
 

92. The second largest religion of the world is _____________ 
a. Hinduism  b. Islam  c. Buddhism d. Christianity 
cyfpd; ,uz;lhtJ kpfg;ngupa rkak; ____. 
a. ,e;Jrkak; b. ,];yhk;  c. ngsj;jk;  d. fpwp];jtk; 

 
93. Consider the following statements 

I. The pigmies are negroid people and are also called as Negrillos 
II. These people spread over the region of 1°N and 6°S latitude 
a. I, II are correct   b. Only I is correct 
c. Only II is correct  d. I, II are incorrect 
gpd;tUk; $w;Wfis Ma;f. 
I. gpf;kpf;fs; ePf;uha;L kf;fs; vdTk; ePf;Nuhy;yp]; vd;Wk; 
miof;fg;gLfpd;wdu; 
II. 1° tlf;Fk; kw;Wk; 6° njw;F ml;rk; tiu ,g;goq;Fbapd kf;fs; 
gutpAs;sdu;. 
a. I,II rup b. I kl;Lk; rup  c. II kl;Lk; rup  d. I,II jtW 
 

94. The best and most typical cattle herders of the world is _________ 
a. Pigmies  b. Masai  c. Bedouin  d. Bushman 
cyfk; KOtJk; nghJthf kpfTk; rpwe;j kw;Wk; jdpj;Jtk; tha;e;j 
fhy;eil Nka;g;gtu;fshf mwpag;gLgtu;fs; ____. 
a. gpf;kpf;fs;  b. krha;  c. gpNlha;d;  d. G~;nkd; 
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95. Which of the following tribal people are desert dwellers? 
I. Pigmies  II. Masai  III. Bedouin  IV. Bushman 
a. I, II, III, IV b. I, II  c. III, IV  d. II, IV 
gpd;tUtdtw;Ws; ghiytdj;jpy; thOk; goq;Fbapd Fof;fs;? 
I. gpf;kpf;fs;  II. krha;  III. gpNlha;d; IV. G~;nkd; 

a. I, II, III, IV b. I, II  c. III, IV  d. II, IV 
 

96. Find out the Kural which is suitable for the following situation 
One who is highly learned yet not mingling with his neighbourhood, 
when he suddenly fell sick there was no one to help him 
gpd;tUk; #o;epiyf;Nfw;w Fwisj; Njh;T nra;f 
ed;F gbj;j xUth; mf;fk;gf;fj;jhhplk; gofhky; xJq;fpNa ,Ue;jhh;. 
Jizf;F ahUk; ,y;iy. ,g;NghJ clk;G rhpapy;yhjNghJ ahUkpd;wpj; 
jpz;lhLfpwhh; 
a. 'Tis source of dignity when 'true decorum' is preserved; 

Who break 'decorum's' rules endure e'en censures undeserved 
xOf;fj;jpd; va;Jth; Nkd;ik ,Of;fj;jpd;  
va;Jth; va;jhg; gop 

b. 'Decorum true' observed a seed of good will be; 
'Decorum's breach' will sorrow yield eternally 
ed;wpf;F tpj;jhFk; ey;nyhOf;fk; jPnahOf;fk; 
vd;Wk; ,Lk;ig jUk; 

c. Who know not with the world in harmony to dwell, 
May many things have learned, but nothing well 
cyfj;NjhL xl;l xOfy; gyfw;Wk; 
fy;yhh; mwptpyh jhh; 

d. It cannot be that they who 'strict decorum's' law fulfil, 
E'en in forgetful mood, should utter words of ill 
xOf;f Kilath;f;F xy;yhNt jPa 
tOf;fpAk; thahw; nrhyy; 
 

97. Whatever thing, of whatsoever kind it be, 
'Tis wisdom's part in each the very thing to see. 
Who lived as an example for the above Kural? 
1. Socrates  2. Alexander 3. Plato 4. Periyar 
a. All the above  b. 1, 3, 4 c. 1, 4 only  d. 1, 2 only 
vg;nghUs; vj;jd;ikj; jhapDk; mg;nghUs; 
nka;g;nghUs; fhz;g jwpT 
vd;w FwSf;F ,yf;fzkha; tho;e;jth;fs; ahh;? 
1. rhf;uB];  2. mnyf;rhz;lh;  3. gpshl;Nlh  4. nghpahh; 
a. ,it midj;Jk; b. 1> 3> 4 c. 1> 4 kl;Lk; d. 1> 2 kl;Lk; 
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98. When lust and wrath and error's triple tyranny is o'er, 
Their very names for aye extinct, then pain shall be no more. 
In this Kural the term „wrath‟ means 
a. Desire  b. Ignorance  c. Anger d. Vengeance  
fhkk; ntFsp kaf;fk; ,it%d;wd; 
ehkk; nflf;nfLk; Neha; 
,f;Fwspy; ntFsp vd;gjd; nghUs; ahJ? 
a. Mir  b. mwpahik c. Nfhgk; d. gopthq;Fk; czh;T 
 

99. Consider the following 
Assertion (A): Bharathiyar wrote commentaries for Thirukural in Tamil 
Reason (R): Kaviyogi Suddhananda Bharati wrote commentaries for 
Thirukural in English 
a. A and R are true, R is correct explanation of A 
b. A and R are true, R is not correct explanation of A 
c. A true, R false 
d. A false, R true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): ghujpahh; jpUf;FwSf;fhd ciuia jkpopy; vOjpAs;shh; 
fhuzk; (R): ftpNahfp Rj;jhde;j ghujp jpUf;FwSf;fhd ciuia 
Mq;fpyj;jpy; vOjpAs;shh; 
a. A kw;Wk; R rhp> R vd;gJ A-tpw;fhd rhpahd tpsf;fk; 
b. A kw;Wk; R rhp> R vd;gJ A-tpw;fhd rhpahd tpsf;fky;y 
c. A rhp> R jtW 
d. A jtW> R rhp 

 
100. According to Thiruvalluvar which one is greater than life? 

a. Good decorum   b. Gratitude 
c. Loving – Kindness  d. Duty to society 
capiu tpl NkyhdJ vd jpUts;Sth; $WtJ ahJ? 
a. xOf;fk;    b. nra;e;ed;wpawpjy; 
c. md;Gilik   d. xg;Gutwpjy; 
 

101. Match the following: 
Organisation    Evolution 
A. ICICI Bank    1. 1964 
B. EXIM Bank    2. 1955 
C. IDBI     3. 1921 
D. Imperial Bank of India   4. 1982 



 

32 | Page PH: 24339436, 42867555, 9840226187 

 

 A B C D 
a. 2 4 3 1 
b. 2 4 1 3 
c. 2 3 4 1 
d. 2 1 4 3 

 nghUj;Jf.  
  epWtdk;   Njhw;wk; 
 A. ICICI tq;fp   1. 1964 
 B. EXIM tq;fp   2. 1955 

 C. IDBI    3. 1921 

 D. ,e;jpa ,k;gPupay; tq;fp 4. 1982 
 A B C D 
a. 2 4 3 1 
b. 2 4 1 3 
c. 2 3 4 1 
d. 2 1 4 3 
 

102. Which of the following statements about monetary policy is/are correct? 
a. Monetary Policy is the Macro Economic policy being laid down by the 

Central Bank towards the Management of Money supply and interest 
rate  

b. It gained significance after the World War II 
c. Initiation Made by J.M Keynes 

a. 1, 2, 3  b. 1, 2  c. 3, 4   d. 2, 3    
 gztpay;nfhs;if gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 

1. gzmspg;G kw;Wk; tl;btpfpjj;ij Nkyhz;ik nra;Ak; Nehf;NfhL 
cUthf;fg;gLk; Ngupdg;nghUspay; nfhs;ifNa gztpay; nfhs;if 
vdg;gLfpd;wJ. 

2. ,uz;lhk; cyfg;NghUf;Fg;gpd; Kf;fpaj;Jtk; ngw;wJ. 
3. J.M. fPd;]; vd;gtuhy; Kd;ndLj;Jr; nry;yg;gl;lJ. 

a. 1, 2, 3  b. 1, 2  c. 3, 4   d. 2, 3    
 

103. Which of the following is not the objectives of Demonetization? 
1. Removing Black Money from the country  
2. Stopping of corruption  
3. Stopping Terror Funds 
4. Financial inclusion  
a. 1  b. 2  c. 3  d. 4  
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gzkjpg;G ePf;fj;jpd; Nehf;fq;fspy; my;yhjJ? 
1. fUg;Gg; gzj;jpid xopg;gJ 
2. ,yQ;rj;ij jLg;gJ 
3. jPtputhjj;jpw;F gzk; nry;tij jLg;gJ 
4. epjprhu; cs;slf;fk; 
a. 1  b. 2  c. 3  d. 4  
 

104. Which of the following statements about Goods and Service Tax is/are 
correct? 

a. GST Act was passed in the parliament on 27th March 2017  
b. GST Act came into effect on 1st July 2017  
c. It is an Indirect tax levied on the supply of goods and services 

a. 1, 2, 3  b. 1, 2   c. 2, 3   d. 1, 3    
 ruf;F kw;Wk; Nrit tup gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 

1. 27 khu;r;> 2017 md;W ghuhSkd;wj;jhy; GST rl;lk; ,aw;wg;gl;lJ. 
2. [_iy 1> 2017 Kjy; mkYf;F te;jJ. 
3. ruf;F kw;Wk; Nrit tupahdJ gz;lq;fs; kw;Wk; gzpfs; mspg;gpd; kPJ 

tpjpf;fg;gLk; kiwKf tupahFk;. 
a. 1, 2, 3  b. 1, 2   c. 2, 3   d. 1, 3    
 

105. Taxes levied and collected by the union but assigned to the states under 
________ 
a. Article 266 b. Article 267 c. Article 268 d. Article 269  
kj;jpa murhy; tpjpf;fg;gl;L> t#ypf;fg;gl;L khepyq;fSf;F xJf;ff;$ba 
tsq;fs; gw;wp Fwpg;gpLtJ ____. 
a. rl;lf;$W 266 b. rl;lf;$W 267 c. rl;lf;$W 268 d. rl;lf;$W 269 

 
106. The Resolution to Boycott the Simon Commission was made in ______ 

Congress Session (1927) 
 a. Calcutta  b. Bombay  c. Madras   d. Delhi 

irkd; FOtpid vjph;g;gjw;fhd jPh;khdk; ve;j fhq;fpu]; khehl;by; (1927) 
vLf;fg;gl;lJ? 
a. fy;fj;jh  b. gk;gha;  c. nkl;uh];  d. nly;yp 

 
107. Gandhi Called _________ as “South India's Jhansi Rani " 
 a. Anjalai Ammal    b. Lakshmi Swaminathan 
 c. Krishnammal Jagannathan  d. Janaki Ammal 
 “njd;dpe;jpahtpd; [hd;rp uhzp” vd fhe;jp ahiu mioj;jhh;? 
 a. mQ;riy mk;khs;   b. yl;Rkp Rthkpehjd; 
 c. fpU~;zk;khs; [fe;ehjd;  d. [hdfp mk;khs; 
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108. The Major force behind the Broadcast of Clandestine Radio during Quit 
India Movement was _____ 

 a. Captain Lakshmi Sehal b. Minoo Masani 
 c. Aruna Asaf Ali   d. Usha Mehta. 

nts;isaNd ntspNaW ,af;fj;jpd; ,ufrpa thndhyp xypg;gug;gpid 
epfo;j;jpath; ahh;? 
a. fhg;ld; yl;Rkp nrfy;  b. kpD krhdp 

c. mUzh Mrg; myp  d. c~h Nkj;jh 
 

109. Who directed The Dharasana Salt March in Surat after the arrest of Gandhi 
during Non-Cooperation Movement? 

 a. Aruna Asaf Ali   b. Annie Besant 
 c. Sarojini Naidu   d. Vijay lakshmi Pandit. 

xj;Jioahik ,af;fj;jpd;NghJ fhe;jp ifJnra;ag;gl;lgpwF #uj; 
jhuhrdh cg;G ahj;jpiuia jiyikNaw;W elj;jpath; ahh;? 
a. mUzh Mrg; myp  b. md;dpngrd;l; 

c. rNuh[pdp ehAL   d. tp[a; yl;Rkp gz;bl; 
 

110. The First woman to be the Deputy President of Legislative Council in India 
was _____ 

 a. Kamala Nehru  b. Annie Besant  
c. Muthulakshmi  d. Kasturba Gandhi 
,e;jpahtpy; rl;l Nkyitf;F Njh;e;njLf;fg;gl;l Kjy; ngz; Jizj; 
jiyth; ahh;? 
a. fkyh NeU  b. md;dpngrd;l;  

c. Kj;Jyl;Rkp  d. f];J}hpgh fhe;jp 
 

111. Who were the female astronauts performed first female spacewalk for 
around 7 hours and 17 Minutes?   
a. Jessica Meir & Anne MC Clain   
b. Kathleen Rubins & Beth Moses 
c. Christina Koch & Jessica Meir    
d. Yelena Serova & Kathleen Rubins   
Rkhh; 7 kzp 17 epkplq;fs; tpz;ntsp gazj;ij epfo;j;jpa Kjy; ngz; 
tpz;ntsp tPuh;fs; ahh;? 
a. n[rpfh kpah; kw;Wk; Mdp MC fpisd; 
b. fhj;yPd; &gpd;]; kw;Wk; ngj; Nkhr]; 
c. fpwp];bdh Nfhr; kw;Wk; n[rpfh kpah; 
d. vypdh nrNuth kw;Wk; fhj;yPd; &gpd;]; 
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112. When was the Chinese President Xi Jinping arrived to Chennai for second 
informal summit? 
a. 11, October  b. 9, October c. 14 October d. 7, October       
rPd mjpgh; ~p [pd;gpq; ,uz;lhtJ Kiwrhuh re;jpg;gpw;F nrd;id te;j 
jpdk;? 
a. 11> mf;Nlhgh; b. 9> mf;Nlhgh; c. 14 mf;Nlhgh; d. 7. mf;Nlhgh; 
 

113. Which project of the Chennai City Police was awarded the SKOCH 
Governance Award? 
a. Focus at right time   b. Sattam  
c. Third Eye    d. Needhi    
ve;j jpl;lj;jpw;fhf nrd;id efu fhtyh;fSf;F SKOCH MSif tpUJ 
toq;fg;gl;lJ? 
a. rhpahd Neuj;jpy; ftdk; b. rl;lk; 
c. %d;whtJ fz;   d. ePjp 
 

114. Which state has become the first in the country to provide maternity 
benefits in the private education sector? 
a. Kerala   b. Karnataka  c. Odisha  d. Andhra Pradesh   
jdpahh; fy;tpj;Jiwf;F kfg;NgW rYiffis toq;Fk; ehl;bd; Kjy; 
khepyk; vJ? 
a. Nfush  b. fh;ehlfk;  c. xb~h d. Me;jpugpuNjrk; 
 

115. Where India‟s first floating Basketball Court is brought by the National 
Basketball Association? 
a. Mormugao, Goa   b. Mangalore, Karnataka  
c. Kochi, Kerala   d. Mumbai, Maharashtra   
Njrpa $ilg;ge;J fofk; ,e;jpahtpd; Kjy; kpjf;Fk; $ilg;ge;J 
ikjhdj;ij vq;F mikj;Js;sJ? 
a. kh;kNfhth> Nfhth  b. kq;f@h;> fh;ehlfk; 

c. nfhr;rp> Nfush   d. Kk;ig> kfhuh~;buk; 
 

116. The cost of 1 box of tomato is ` 200. Vendan had money to buy 13 boxes. If 
the cost of the box is increased to ` 260 then how many boxes will he buy 
with the same amount? 
a. 15   b. 10   c. 20   d. 8 
xU ngl;b jf;fhspapd; tpiy 200. Nte;jd; mtuplk; cs;s gzj;jpy; 13 
ngl;bfis thq;fpdhu;. xU ngl;bapd; tpiy 260 vd mjpfupj;jhy; mtuplk; 
cs;s gzj;ij itj;J vj;jid ngl;bfs; thq;f KbAk;? 

 a. 15   b. 10   c. 20   d. 8 
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117. The price of a house is decreased from Rupees Fifteen Lakhs to Rupees 
Twelve Lakhs. Find the percentage of decrease 
a. 10%  b. 20%    c. 30%   d. 5%  
xU tPl;bd; tpiy 15 ,yl;rk; &ghapypUe;J 12 ,yl;rk; &ghahff; 
Fiwe;jJ vdpy; Fiwe;j rjtPjk; fhzTk;. 

 a. 10%  b. 20%    c. 30%   d. 5% 
 

118. A number is increased by 22 ½ % and gives 98.  The number is  
a. 45   b. 18   c. 80   d. 81 
xU vz;iz 22 ½ % cah;j;Jk; NghJ 98 fpilf;fpwJ vdpy; me;j vz; 

a. 45   b. 18   c. 80   d. 81 
 

119. The Population of a village grows by r% every year. In 2 years the 
population increases from 10000 to 11025. Then r is  
a. 5   b. 3.5   c. 2.5   d. 1.5 
xU fpuhkj;jpd; kf;fs; njhif Mz;L xd;W r% tPjk; rPuhf $bf; nfhz;L 
nry;fpwJ. 2 Mz;Lfspy; kf;fs;njhif 10000 j;jpypUe;J 11025 Mf 
mjpfhpj;Js;sJ. vdpy; r vt;tsT? 
a. 5   b. 3.5   c. 2.5   d. 1.5 

 
120. The time taken for `4400 to become `4851 at 10%, compounded half yearly 

is _______. 

a. 6 months   b. 1 year   c. 1
1

2
years   d. 2 years 

10% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy;> 
`4400 MdJ `4851 Mf ________ MFk;. 

a. 6 khjq;fs;  b 1 Mz;L   c. 1
1

2
 Mz;Lfs;  d. 2 Mz;Lfs; 

121. Which of the following statements about Eskimos is/are correct? 
I. Eskimos also called Inuits are tribes of tundra cold region in 

Canadian northland, Alaska, Greenland and north-eastern Siberian 
coastal region 

II. The Eskimos are Australoid Race 
III. They live in igloo and practice hunting way known as Maupak 
a. I, II, III  b. I, III  c. II, III  d. I, II 
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v];fpNkhf;fs; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
I. ,d;A+l; vdTk; miof;fg;gLk; v];fpNkhf;fs; JUt Fspu; gpuNjrj;jpd; 
fdlhtpd; tlf;F gFjp> myh];fh> fpuPd;yhe;J kw;Wk; tlfpof;F irgPupa 
flNyhug; gFjpfspy; cs;sdu;. 
II. M];l;uyha;L ,dj;ijr; rhu;e;jtu;fs; 
III. ,f;Y} vd miof;fg;gLk; FbapUg;gpy; trpf;fpwhu;fs;> khgf; vDk; 
Ntl;ilahLjy; Kiwiag; gpd;gw;Wfpwhu;fs;. 
a. I, II, III  b. I, III  c. II, III  d. I, II 
 

122. The most widely distributed tribal groups in India is ________ 
a. Gonds  b. Bhils  c. Khasi  d. Angami 
,e;jpahtpy; kpfTk; gutyhf fhzg;gLk; goq;Fbapdf; FO ____. 
a. Nfhz;Lfs; b. gpy;];fs;  c. fhrp  d. mq;fhkp 
 

123. Which of the following statement about Santhals is/are correct? 
I. Santhals are the fourth largest tribe in India 
II. They belong to the pre-Aryan period and have been the great 

fighters from the time of the British 
III. Total population is 12 million 
a. I, II, III  b. I  c. II  d. III 
rhe;jyu;fs; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
I. ,e;jpahtpd; ehd;fhtJ ngupa goq;Fbapdu;. 
II. Ke;ija Mu;a fhyj;ijr; rhu;e;jtuhd ,tu;fs; gpupl;b~; 
fhyj;jpypUe;Nj ngUk; Nghuhspfshf ,Ue;jpUf;fpd;wdu;. 
III. nkhj;j vz;zpf;if 12 kpy;ypad; 
a. I, II, III  b. I  c. II  d. III 
 

124. The most dangerous tribe in the world is __________ 
a. Santhals  b. Sentinelese c. Eskimos  d. Bushman 
cyfpd; kpf Mgj;jhd goq;Fbapdu;fs; _____. 
a. rhe;jyu;fs; b. nrd;bdy;]; c. v];fpNkhf;fs; d. G~;nkd; 

 
125. The world‟s first republic was _________ 

a. Mexico  b. Qatar  c. Vaishali  d. Kuru 
cyfpd; Kjy; FbauR ____. 
a. nkf;rpNfh  b. fj;jhu;  c. it~hyp  d. FU 
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126. As 'Give' the robber cries with lance uplift, 
So kings with sceptred hand implore a gift. 
Find out the meaning of the Kural? 
a. Robbing the people‟s money   
b. Taxing people by using power 
c. King ruling the government without any reasoning 
d. Government ruled by the robbers 
NtnyhL epd;whd; ,Lntd; wJNghYk; 
NfhnyhL epd;whd; ,uT 
a. kf;fspd; gzj;ij nfhs;isabj;jy; 
b. jd; mjpfhuj;ijf; nfhz;L thptpjpg;gJ 
c. ed;ik jPikfis MuhahJ kd;dd; Ml;rp nra;tJ 
d. nfhs;isah;fs; Ml;rp 

 
127. Thirukural was translated into European language for the first time by 

a. G.U.Pope  b. Ellis c. Joseph Beschi  d. John Lazarus 
INuhg;gpa nkhopapy; jpUf;Fwis Kjd; Kjypy; nkhopngah;j;jth; 
________ 
a. G.U. Nghg; b. vy;yp]; c. N[hrg; ng];fp  d. [hd; yrhu]; 
 

128. Who conducted Thirukural conference for the first time in Tamilnadu? 
a. M. Karunanidhi  b. Annadurai 
c. Periyar   d. Maraimalai Adigal 
jkpo;ehl;by; Kjd; Kjypy; jpUf;Fws; khehl;bid elj;jpath; ahh;? 
a. K. fUzhepjp  b. mz;zhJiu 

c. nghpahh;   d. kiwkiy mbfs; 
 

129. In 2016 Indore was 149th rank in cleanliest cities index. With the efforts of 
swift government administration and people‟s involvement now Indore 
has become cleanest city of India for three consecutive years.  
Find out the suitable Kural for the above statement 
a. Say not, 'Tis hard', in weak, desponding hour, 

For strenuous effort gives prevailing power. 
b. In action be thou, 'ware of act's defeat; 

The world leaves those who work leave incomplete!. 
c. In strenuous effort doth reside 

The power of helping others: noble pride!. 
d. Effort brings fortune's sure increase, 

Its absence brings to nothingness. 

https://swachhindia.ndtv.com/swachh-survekshan-2018-congratulations-indore-heres-twitter-congratulating-cleanest-city-india-19794/
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2016,y; J}a;ikf; FwpaPl;by; 149tJ ,lj;jpy; ,Ue;j ,e;J}h; khefuk;> 
fle;j %d;W Mz;Lfshf ,e;jpahtpd; kpfj; J}a;ikahd khefukhf 
khwpapUf;fpwJ. kf;fspd; tuNtw;Gk;> Ml;rpahsh;fspd; MjuTk;> eph;thfj;jpd; 
Kidg;Gk; ,Ue;jhy; vij Ntz;LkhdhYk; rhjpj;Jf;fhl;l KbAk; vd;gij 
ep&gpj;jpUf;fpwJ ,e;J}h;. 
Nkw;$wpa $w;Wf;F nghUj;jkhd Fwis njhpT nra;f 
a. mUik cilj;njd;W mrhthik Ntz;Lk; 

ngUik Kaw;rp jUk; 
b. tpidf;fz; tpidnfly; Xk;gy; tpidf;Fiw 

jPh;e;jhhpd; jPh;e;jd;W cyF 
c. jhshz;ik vd;Dk; jifikf;fz; jq;fpw;Nw 

Ntshz;ik vd;DQ; nrUf;F 
d. Kaw;rp jpUtpid Mf;Fk; Kaw;wpd;ik 

,d;ik GFj;jp tpLk; 
 

130. Which year Valluvarkottam was dedicated to the classical Tamil poet 
Thiruvalluvar by Tamilnadu Government? 
a. 1976  b. 1975  c. 1978  d. 1984 
ts;Sth; Nfhl;lj;ij ma;ad; jpUts;StUf;F jkpof muR mh;g;gzpj;j 
Mz;L? 
a. 1976  b. 1975  c. 1978  d. 1984 

 
131. Match the following: 

Finance Commission    Chairman  
A. First      1. P.V Rajamannar  
B. Second      2. K.C Neogy  
C. Fourth      3. Y.B Chavan  
D. Eight     4. K. Santhanam  
 A B C D 
a. 2 3 1 4 
b. 2 4 1 3 
c. 2 1 4 3 
d. 3 2 4 1   

 nghUj;Jf 
 epjpf;FO   jiytu; 
 A. KjyhtJ  1. P.V. uh[kd;dhu; 
 B. ,uz;lhtJ  2. K.C. epNahfp 
 C. ehd;fhtJ  3. Y.B. rthd; 
 D. vl;lhtJ   4. K. re;jhdk; 
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 A B C D 
a. 2 3 1 4 
b. 2 4 1 3 
c. 2 1 4 3 
d. 3 2 4 1   
 

132. Match the following: 
Finance Commission   Chairman  
A. Eleventh    1. Vijay Kelkar 
B. Thirteenth    2. N.K Singh  
C. Fourteenth   3. A.M Khusro  
D. Fifteenth    4. Y.V Reddy  
 A B C D  
a. 3 1 4 2 
b. 1 3 2 4 
c. 4 2 3 1 
d.   2 3 1 4 

 nghUj;Jf. 
 epjpf;FO    jiytu; 
 A. gjpndhd;whtJ  1. tp[a; Nfy;fu; 

 B. gjp%d;whtJ  2. N.K. rpq; 
 C. gjpdhd;fhtJ  3. A.M. F];Nuh 

D. gjpide;jhtJ  4. Y.V. nul;b 
 A B C D  
a. 3 1 4 2 
b. 1 3 2 4 
c. 4 2 3 1 
d.   2 3 1 4 
 

133. Which of the following statements is/are correct? 
a. Finance Commission is a quasi-Judicial body set up under Article 

280 of the Indian Constitution 
b. The 15th Finance Commission has been set up in November 2018  
c. Recommendations of 15th finance commission will be implemented 

from 1 April 2020 
a. 1, 2, 3   b. 1, 2   c. 2, 3  d. 1, 3  
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gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpa murpayikg;G ~uj;J 280-d; gb epjpf;FO gFjp rl;lG+u;t 

mikg;ghFk;. 
2. 15-tJ epjpf;FO 2018 etk;gupy; mikf;fg;gl;lJ. 
3. 15-tJ epjpf;FOtpd; gupe;Jiufs; Vg;uy; 1> 2020 Kjy; mkYf;F tUk;. 
a. 1, 2, 3   b. 1, 2   c. 2, 3  d. 1, 3  

 
134. Which of the following statements about objectives of Fiscal Policy is/are 

incorrect? 
1. Equitable distribution   2. External stability 
3. Capital formation    4. Regional Balance  
5. Financial stability    6. Unemployment  
a. 1, 3  b. 4, 6   c. 5, 6   d. 2, 6     
epjpf;nfhs;ifapd; Nehf;fq;fs; gw;wp gpd;tUk; $w;Wfspy; vit 
jtwhdit? 

 1. rkkhd gfpu;T   2. ehza khw;WtPj rkepiy 
 3. %yjd cUthf;fk;  4. rktl;lhu tsu;r;rp 
 5. epjp epiyj;jd;ik   5. Ntiyapd;ik 

a. 1, 3  b. 4, 6   c. 5, 6   d. 2, 6     
 

135. Which of the following statements about sources revenue of village 
Panchayats is/are incorrect? 
1. General Property tax  2. Taxes on Land  
3. Profession Tax   4. Income from Fairs and exhibitions  
a. 1  b. 2  c. 3  d. 4   
fpuhk Cuhl;rp tUtha; Mjhuq;fs; gw;wp gpd;tUk; $w;Wfspy; vit 
jtwhdit? 
1. nghJ nrhj;Jtup    
2. epyk; kPjhd tup 
3. njhopy;tup   
4. nghUl;fhl;rpfs; kw;Wk; fz;fhl;rpfspypUe;J ngwg;gLfpw tUkhdk; 
a. 1  b. 2  c. 3  d. 4   
 

136. How many Sessions of Indian National Congress was held in Madras? 
 a. Five   b. Seven  c. Eight  d. Ten 

nkl;uhrpy; vj;jid ,e;jpa Njrpa fhq;fpu]; khehLfs; eilngw;Ws;sd? 
a. Ie;J  b. VO  c. vl;L  d. gj;J 

  
137. A Contingent of _____ delegates from Madras Presidency attended INC 

Calcutta Session (1886) 
 a. 37   b. 47   c. 57   d. 67 
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nkl;uh]; khfhzj;jpypUe;J fy;fj;jh fhq;fpu]; khehl;by; fye;J nfhz;l 
fhq;fpu]; cWg;gpdh;fspd; vz;zpf;if _______ 

 a. 37   b. 47   c. 57   d. 67 
 

138. The First Indian Woman to Join Indian National Army organized during 
Japanese occupation of Malaya was ________ 

 a. Lakshmi Swaminathan  b. Reshma Bhupalan 
 c. Kamala Devi     d. Janaki Athinahappan 

kNyahit [g;ghd; Mf;fpukpj;j NghJ cUthf;fg;gl;l ,e;jpa Njrpa 
,uhZtj;jpy; ,ize;j Kjy; ,e;jpa ngz;kzp __________ 
a. yl;Rkp Rthkpehjd;   b. Nu~;kh g+ghyd; 
c. fkyh Njtp    d. [hdfp Mjpehfg;gd; 

 

139. Dheeran Chinna Malai was  hanged at Sankagiri  Fort  on _____ 
 a. 30 June 1805  b. 31 July 1805 
 c. 30 August 1805  d. 30 September 1805 

jPud; rpd;dkiy rq;ffphp Nfhl;ilapy; J}f;fpyplg;gl;l ehs; ______ 
a. 30 [{d; 1805  b. 31 [{iy 1805 
c. 30 Mf];l; 1805  d. 30 nrg;lk;gh; 1805 
 

140. Father of Library Movement in Tamilnadu __________ 
a. Avinasa Lingam  b. Aranganathan 
c. Kalyanasundaram  d. S.R. Ranganathan  

 jkpo;ehl;bd; E}yf ,af;fj;jpd; je;ij _____________ 
 a. mtpehrypq;fk;   b. muq;fehjd; 

 c. fy;ahzRe;juk;   d. S.R. uq;fehjd; 
                                      

141. Identify the incorrect match: 
Conference/Summit       Venue  
a. 5th International Conference on Sleep Disorders - Nagpur  
b. 9th RCEP International Ministerial Meeting   - Bhutan     
c. 1st India Sports Summit      -  New Delhi  
d. 29th BASIC Minister Meeting on Climate Change  - Beijing  
jtwhd ,iziaf;fhz;f 
khehLfs;        eilngw;w ,lk; 
a. 5tJ rh;tNjr J}f;f FiwghL khehL   ehf;g+h; 

b. 9tJ RCEP rh;tNjr mikr;rh;fs; $l;lk;  g+l;lhd; 
c. 1tJ ,e;jpa tpisahl;L khehL    GJ jpy;yp 
d. 29tJ BASIC fhyepiy khw;wj;jpw;fhd    nga;[pq; 
  mikr;rh;fs; khehL 
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142. Match the following: 
Exercise     Country Participated 
A. Nomadic Elephant – XIV  1. India & Oman  
B. Dharma Guardian   2. India & USA 
C. Eastern Bridge – V   3. India & Japan  
D. Vajra Prahar     4. Nepal & USA  
E. Shanti Prayas – II   5. India & Mongolia    
 A B C D E 
a. 5 3 1 2 4 
b. 2 1 5 3 4 
c. 5 1 4 2 3 
d.  4 2 5 3 1 
nghUj;Jf 
gapw;rp      gq;Nfw;w ehLfs; 
A. nehkbf; vypngd;l; XIV  1. ,e;jpah kw;Wk; Xkd; 

B. jh;k fhh;bad;    2. ,e;jpah kw;Wk; mnkhpf;fh 
C. <];lh;d; gphpl;[; V   3. ,e;jpah kw;Wk; [g;ghd; 

D. t[;u gpufhh;    4. Nehghsk; kw;Wk; ,e;jpah 
E. rhe;jp gpuah]; II   5. ,e;jpah kw;Wk; kq;Nfhypah 
 A B C D E 
a. 5 3 1 2 4 
b. 2 1 5 3 4 
c. 5 1 4 2 3 
d.  4 2 5 3 1 
 

143. What is the theme of International Day of Girl Child? 
a. Girl Force: Reason behind Success 
b. Fight against women cruelty  
c. Girl Force: Unscripted and Unstoppable  
d. Importance of Girl right   
rh;tNjr ngz;Foe;ijfs; jpdj;jpd; ikaf;fU ahJ? 
a. Girl Force: Reason behind Success 
b. Fight against women cruelty  
c. Girl Force: Unscripted and Unstoppable  
d. Importance of Girl right   
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144. GEMINI device provides details of Cyclones, High Waves and Tsunami, 
GEMINI is  

a. Geo space Enabled Mariner‟s Instrument for Navigation and 
Information  

b. Gagan Enabled Mariner‟s Instrument for Navigation and Information  
c. Geographically Enabled Mariner‟s Instrument for Navigation and 

Informatics 
d. Geospatial Enabling Mariner‟s Instrument for Navigating and 

Informatics  
GEMINI cgfuzk; Gay;fs;> cah; miyfs; kw;Wk; Rdhkp gw;wpa 
jfty;fis mspf;fpwJ> GEMINI vd;gJ 

a. Geo space Enabled Mariner‟s Instrument for Navigation and 
Information  

b. Gagan Enabled Mariner‟s Instrument for Navigation and 
Information  

c. Geographically Enabled Mariner‟s Instrument for Navigation and 
Informatics 

d. Geospatial Enabling Mariner‟s Instrument for Navigating and 
Informatics  

 
145. Which organization of UN to adopt to make transactions in Crypto 

Currency? 
a. FAO  b. WHO  c. UNICEF  d. UNESCO   
ve;;j If;fpa ehLfs; mikg;ghdJ fphpg;Nlh gzj;jhs; ghpth;j;jidfis 
Vw;Wf;nfhz;lJ? 
a. FAO  b. WHO  c. UNICEF  d. UNESCO   
 

146. The difference between simple and compound interest on a certain sum of 
money for 2 years at 2% p.a is ` 1. The sum of money is __________. 
a. `2000    b. `1500   c. `3000   d. `2500 
2% Mz;L tl;bapy;> 2 Mz;LfSf;F Xu; mrYf;Ff; fpilj;j 
$l;Ltl;bf;Fk; jdptl;bf;Fk; ,ilNaAs;s tpj;jpahrk; `1 vdpy;> mry; 
MdJ _______ MFk;. 
a. `2000    b. `1500   c. `3000   d. `2500 

 
147. A certain sum of money invested at a certain rate of compound interest 

triples in 7 years.  In how many years will it become 81 times? 
a. 28 years  b. 36 years   c. 72 years  d. 77 years 
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xU Fwpg;gpl;l $l;L tl;b tPjj;jpy; KjyPL nra;ag;gLk; xU Fwpg;gpl;l 
njhif 7 Mz;Lfspy; mijg; Nghy %d;W klq;fhfpwJ.  mJ vj;jid 
Mz;Lfspy; 81 klq;fhFk;? 
a. 28 Mz;Lfs;  b. 36 Mz;Lfs;   
c. 72 mz;Lfs;  d. 77 Mz;Lfs; 

 
148. The effective annual rate of interest equivalent to 8% p.a. interest 

compounded half yearly is: 
a. 8.4%  b. 8.8% c. 8.16% d. None of these 
miu Mz;Lf;F xU Kiw tl;b $l;lg;gLtjhapd;> Mz;Lf;F 8 tpOf;fhL 
vd;w tPjj;jpy; t#ypf;fg;gLk; tl;bf;Fr; rkkhd epfu Mz;L tl;b tPjk; 
vt;tsT? 
a. 8.4%  b. 8.8% c. 8.16% d. ,tw;wpy; vJTk; ,y;iy. 

 
149. The annual rate of growth in population of a town is 10%. If its present 

population is 26620, the population 3 years ago was_________ 
a. 21000  b. 22000  c. 22500  d. 20000 
xU efuj;jpd; kf;fs;njhif Mz;LNjhWk; 10% mjpfupf;fpwJ.  mjd; 
jw;Nghija kf;fs;njhif 26620 vdpy;> 3 Mz;LfSf;F Kd; kf;fs;njhif 
________ MFk;. 
a. 21000  b. 22000  c. 22500  d. 20000 

 
150. At what time will a sum of 3000 will amount to 3993 at 10% p.a 

compounded annually? 
a. 2 years   b. 3 years     c. 4 years      d. 5 years 
$l;L tl;bapy; &. 3>000 w;F 10% Mz;L tl;bf;F $Ljy; &. 3>993 
fpilf;f vj;jid Mz;Lfs; Njit? 
a. 2 Mz;Lfs; b. 3 Mz;Lfs; c. 4 Mz;Lfs; d. 5 Mz;Lfs;  
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REFERENCE HALL ACCESS TEST III – 2019 
GROUP I PRELIMINARY 

 
1 2 3 4 5 6 7 8 9 10 
A D A D B B C A C B 

11 12 13 14 15 16 17 18 19 20 
B A D D C B C D C A 

21 22 23 24 25 26 27 28 29 30 
C A D B B B A A A C 

31 32 33 34 35 36 37 38 39 40 
B A C D C A B B A A 

41 42 43 44 45 46 47 48 49 50 
D B B C C C C D C C 

51 52 53 54 55 56 57 58 59 60 
D C A D A D B C B A 

61 62 63 64 65 66 67 68 69 70 
B B B A C A C A B A 

71 72 73 74 75 76 77 78 79 80 
C C B D B B D C B B 

81 82 83 84 85 86 87 88 89 90 
C D C B D B A C B D 

91 92 93 94 95 96 97 98 99 100 
D B B B C C C C D A 

101 102 103 104 105 106 107 108 109 110 
B B D C D C A D C C 

111 112 113 114 115 116 117 118 119 120 
C A C A D B B C A B 

121 122 123 124 125 126 127 128 129 130 
B B C B C B C C A A 

131 132 133 134 135 136 137 138 139 140 
B A D C D B B D B A 

141 142 143 144 145 146 147 148 149 150 
B A C B C D A C D B 
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REFERENCE HALL ACCESS TEST III – 2019 
GROUP I PRELIMINARY 

 
1 2 3 4 5 6 7 8 9 10 
A D A D B B C A C B 

11 12 13 14 15 16 17 18 19 20 
B A D D C B C D C A 

21 22 23 24 25 26 27 28 29 30 
C A D B B B A A A C 

31 32 33 34 35 36 37 38 39 40 
B A C D C A B B A A 

41 42 43 44 45 46 47 48 49 50 
D B B C C C C D C C 

51 52 53 54 55 56 57 58 59 60 
D C A D A D B C B A 

61 62 63 64 65 66 67 68 69 70 
B B B A C A C A B A 

71 72 73 74 75 76 77 78 79 80 
C C B D B B D C B B 

81 82 83 84 85 86 87 88 89 90 
C D C B D B A C B D 

91 92 93 94 95 96 97 98 99 100 
D B B B C C C C D A 

101 102 103 104 105 106 107 108 109 110 
B B D C D C A D C C 

111 112 113 114 115 116 117 118 119 120 
C A C A D B B C A B 

121 122 123 124 125 126 127 128 129 130 
B B C B C B C C A A 

131 132 133 134 135 136 137 138 139 140 
B A D C D B B D B A 

141 142 143 144 145 146 147 148 149 150 
B A C B C D A C D B 

 


